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— LS HEI BESEUY A4 =cl 90,000& x2009H A = 18,000
O =& AHAEIA B A 3,000,000& x30 2 = 90,000
53,444 50,022 3,422 106 A& EH|I = Xb|




(710) 2 (751) LBr2e|y| 2 (214) >EKX WA &)
= OH @l sl e = At = pl| =
- Ol &F oM < - =
O #EFH KAl 9,920
— = A 200,000& x10H = 200
—&FH 150,000 x250 x1/2 = 1,875
— g ED| 150,000 x50 x1/2 = 375
— oA 150,000 x 10 = 150
— DY 0l ZelED| 210,000& x1CHx12& = 2,520
— ZLIIt Ol=Et A8 ZgE 400,000& x1Hx12& = 4,800
O AHEI| WA MR 300,000& x2CHx12& = 7,200
OARS &3 ERAAE FXE22H| 569,000& x12& = 6,828
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O 371 A HAIAR T2 03 SR 24| 8,376,000& x 13| = 8,376
O HUAFE3IMAIAE X224l 400,000& x12& = 4,800
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4,400 4,400 01 A2 ZHI
O 22 ¢ A E2H| 4,400
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) E B 1 (710) JUHIS Mg : (751) gerata|b) = @ (307) pIRHOIE (EH9) : @A)
o = Mg | @EE - A
& (Mg = O 4t o g
O 4=CZE gAY 653,176
—SAg 32,0658 x850& x 128 = 327,063
— goix 29,000% X870/ X128 = 302,760
—Ss=AY 4258 x1,300@ x12& = 6,630
— /2 Y AT 16,723,0002 = 16,723
7,811 7,547 264107 (=P ==
O Mol2a 2= 6,563,719,000& %0.119% = 7,811
780
S 2,000 2,000 0
782
HI|EALTHEH 2,000 2,000 0
758
SN 2,000 2,000 0
2,000 2,000 0
02582 20,0002 x 10021 = 2,000
800
722 ,902 A 37,
o 804,7 841,90 37,180
801 804,722 841,902 A 37,180
CLIE] ’ ’ ’
801 804.722| 841,902 A 37,180
Ol 1] ’ ’ ’
804,722 841,902 A 37,180
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[ A58 E ]
2+ 1 (200) RHEHXIE 5 : (230) REAFS Mgt (236) Xtat2ery = © (405) KHAFISHIS (Sl : ®9)
5 = Ol AF oH @l sl e 2t AF = J
) = Of &b o g |
200
=TS 580,500 1,304,726 A 724,226
230
SE T AR S 80,500 52,000 28,500
236
Hzrouin 20,000 0 20,000
405
TR Sh S 20,000 0 20,000
20,000 0 20,000 01 Aot =H|
O HZI S2A4 UHEE SS(AE)X 2 20,000,000& x10H = 20,000
237
2|2y 60,500 0 60,500
405
THAHE] 60,500 0 60,500
60,500 0 60,500 | 01 AHatE S|
O &% A& FHI(PDA) 2L 1,500,000& x70H = 10,500
O XM & 40N ZelED| 2 50,000,000& x1CH = 50,000
800
A
oYl 500,000 1,252,726 752,726
801
VAN
oHIHI 500,000 1,252,726 752,726
801
A
N 500,000 1,252,726 752,726
500,000 1,252,726 A 752,726
O X=0l4F oiglbl 500,000,000& = 500,000




(700) AtSH g 1 (710) SGHIE Mg (713) BH-= (101) QI24H] )
i, = e =
Ofl &F o4 AL s =
e, = Ol & oK
11,735,262 8,463,148 3,272,114
e 11,735,262 8,463,148 3,272,114
713
RSP 8,703,255 5,583,021 3,120,234
(13?219_0:1 114,261 107,333 6,928
101
S 114,261 107,333 6,928
90,141 85,013 5,128
33,513
1,034,080& x1Ex 128 = 12,409
1,034,080& x1H x400% = 4,137
1,034,080& x 18 x120% = 1,241
463,990 x1H x43| = 1,856
60,000& x1&Ex12& = 720
130,000& x1Ex12& = 1,560
50,000& x1&Ex12& = 600
40,000 x1&x12& = 480
50,000& x1&Ex12& = 600




[
2 : (700) A2 51 (710) YAHI Mg : (713) -2 = @ (101) 22| (29 : ®E)
4 = aw | TEE = o & &5 2 =
A = I TR N -
I PNE = 64,4803 x1H x22 = 1,419
— =5 12,408,960 /261U x1H x525F = 2,473
—d2=E 1,034,080& x1H x50%x23| = 1,035
— My 1,034,080 x1Yx10%x12& = 1,241
— @RS 8,060& x 1Z x20AI2tx150%x 12& = 2,902
— WEE A 70,000 x1HEx12& = 840
O 4 5422 0RH2, IS GISYS 219 56,628
—Jl=a 997,880F x2H x12& = 23,950
— &0z 997,880& x2H x400% = 7,984
— HEFIH 997,880 x2¥ x120% = 2,395
— NESHIE 24D S5HM) 463,990 x1H x43| = 1,856
— &g 100,000& x2¥ x12& = 2,400
— JAZ Al 130,000 x2¥ x12& = 3,120
— 283 60,000 x2E x12& = 1,440
— AXt==g 60,000& x2H x22 = 2,640
—F=5g 997,880 x 128 /261 L x2H X525 = 4,772
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— M 997,880 x2H x10%x12& = 2,395
24,120 22,320 1,800|04  JIHK2ZASES
O E-2XAI BXRY 48,2403 x 18 x250L = 12,060
O S4EAEE o2 48,2409 x 12 x2502 = 12,060
g%gtn 8,563,994 5,435,688 3,128,306
ia('):&—i—g 185,465 158,225 27,240
58,390 69,790 A 11,400{01  Ar2 22l
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- +42 S 31,240
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"2EY YU KaX HA BE 802 x3%x12,50004 = 3,000
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g 1 (710) SGHIE Mg (713) th-===tl S 1 (212) Sel=H4Y| ?lEY)
= S =
= Ofl &t oA oT| E oy s Z =
O OI=Hl (2&IIAH 130,000& x2& = 260
O RIHL2EX TI=H 165
— g 282 165
TEY= 130,000 x 1% = 130
A5t 35,0008 x1&H = 35
7,183,740  4,741,820| 2,441,920
4,200,000  2,000,000{ 2,200,000(02  AB4E2 WAL
O &t==& =2 WHI(18km) 200,000,000 xEEE 1.5kmx 1288 = 3,600,000
O =2 HHI(HA) Al 100,000
—[=] 30,000,000& = 30,000
— [Al] 70,000,000& = 70,000
O=zz=z HENN L & AHA 2004, &X| 20H4)
(150,000,000 x 27 2)+(100,000,000& x 24 ) = 500,000
2,850,500 2,609,900 240,600|05  JIEFWAHI
ONASE SSFH M= o 5,000,000& x23| = 10,000
O &G SaaH(48H)) 950,000% % 1,500 4 = 1,425,000




(710) 2 HHIS Mg (713) th-===tl 2 (214) =2 X D HH| (Sl - HJ)

= Ab OH 84 = oI Ab = ] =

= Sl | S = =
O &2 SEA 625,000% x32021 = 200,000
O M=8, Ast™ B4 84,000
—[&] 25,200,000¥ = 25,200
—[Al] 58,800,000& = 58,800
O & M=z Ha 3,000,000& x 7% 23] = 42,000
O & L ==Xl Al &I 2,500,000 x49Jh 4 = 122,500
O &5 ES3IAIAE AlZEH| 500,000 x540 & = 27,000
O H&Eg==2 EHH| 90,000,000& x 1Al = 90,000
O ti=2Hbl(E+=, A=) 250,000& x1,000m = 250,000
O elgsa =H(E2 ) (4BDI]) 500,000& x1,200H = 600,000

133,240 131,920 1,320 (06 A& &Y= XIbl

OJdE &8I & 82 21X 2,000,000& x 49 4 = 98,000
O bl&egAI| RFU(ER,015,5&) 1,400@ x6002IE = 840
O It & 2| X KXY 300,000 x 10 x12& = 3,600
O ot 2 ti=Xl 2 JHI(490H ) 1,200,000& x43| = 4,800
O =Xl2teltl 26,000




(700) AtAHIZ g (710) SHHIE Mgt o (713) Bi-ZS==H g )
% = JEN
Ofl &F o4 s =
e, = Ol & oK
— GIS M&HEH| 7Xl2teltl 2,500,000& x 24! 5,000
— & AEE XelEEAAE(GIS) X2t 20,000,000& x 14! 20,000
— =8 A&Hl || 1,000,000& x 14| 1,000
215
ey 512,760 514,800 A 2,040
512,760 514,800 A 2,040
O ESAIAHE 5401 20,0003 x54H A %123 12,960
O It 490424 850,000 x49 A x12& 499,800
300
> 0| A 25,000 40,000 A 15,000
301
ol AL 25,000 40,000 A 15,000
25,000 40,000 A 15,000(12 JIEtE A3
O sg2 /Y Ii24= 5,000,000& x 14! 5,000
O s==dSAt T2 A= 20,000,000& x 14| 20,000
[ 2,726,880 2,597,050 129,830
2 B4 2 A 120 90 ’
200 2,72 0 2,597,050 129
So124y] ,726,88 ,597,05 ,830
2381 2,536,880 2,472,050 64,830
A Z A T T ’
2,536,880 2,472,050 64,830




[ 44D ]
21 (700) AIIHIR 5 0 (710) IR Mg @ (717) 2 2B A (231) A& B AH] (o) @ M A)
ﬂl‘ g 0;" Al OH xl_-l Lj E 2t At = jl
= = =
S EILE = I TR N -
O SX<(=1,380%) 1,491,680
— D=13mm 871,000& x900& = 783,900
— D=20mm 1,124,000& x250H = 281,000
— D=25mm 1,283,000& x 150 = 192,450
— D=32mm 1,699,000& x40H& = 67,960
— D=40mm 3,606,000& x25H = 90,150
— D=50mm 4,372,000 x10H& = 43,720
— D=75mmO| & 6,500,000& x5 = 32,500
O SHXIA(=1,200%) 1,045,200
—AELZS2 3 SH 871,000 x 1,200 = 1,045,200
232
WE 2 A 190,000 125,000 65,000
190,000 125,000 65,000
O SXI<(D=13~75mm) 1,000,000& x150H = 150,000
O ¥ X9 (D=13~50mm) 500,000& x80& = 40,000
751 305,127 283,077 22,050
olsi 22| ’ ’ ’
100
olz 2oty 162,646 156,176 6,470




8 (710) YUl ME : (751) Yurerely] (101) @148 =)
b = b SER=
O &F oA & o ;; = = = pJ ]
l?;dul 162,646 156,176 6,470
162,646 156,176 6,470
162,646
9,3322 x 19 x45A12tx 128 = 95,747
66,899
(B2, S+EA S) 22 24,8882 x 143 x4A| 2t x 482 = 66,899
g%gtn 142,481 126,901 15,580
EE(')ELE—%I:II 30,851 30,971 A 120
10,672 10,792 A 120
10,672
+2HI(28) 3,580,0002 = 3,580
7,092
21,0002 x 108t A x 128 = 2,520
31,5002 x 102 A X 128 = 3,780
22,0009 x3LA X122 = 792
20,179 20,179 0 ==




Mgt o (751) 2Ekzetelt] £ ¢ (201) LBrEEH| (Sl - HJ)

- e w | & = & & o =&
= ol & o
O3222 % HA 8,185
—RAN2E 23L23(38) 1,5636,000& = 1,536
—d3Res 2,616
akel=d 40,000 x2x12& = 960
" PDANMEZ 60,000& x2MHx12& = 1,440
cHstEld ArEE(RE D) 18,000 x 128 = 216
— IR AIBS(BERX L =288 2X) 7503 x885m" = 664
— XSt 23 2 (X 30) 3,369
* KNS AHA 142,000& x3CH = 426
T EAEEE 61,0002 %30 = 183
T Y BEEEE 2,400
* QUkItE 800,000& x304 = 2,400
" ASI EEINE RE3 60,0003 x3LHx23| = 360
(@PN=Falsl 11,994
— XS XIHI(3CH) 11,994
TS E(AE) 3,338,000& x2CH = 6,676




(700) AtHBIE g (710) 2gHI= Mg (751) Letateld = @ (201) get2g (el - &)
b = b JE = = =
= Ol &+ <4 oT| E oy g Z At = ] =
C2(8=) 5,318,000& x 10 = 5,318
aﬁ 76,440 63,660 12,780
76,440 63,660 12,780 (01 =LA
O FLRYULFXOHI(BS) 20,0002 x19¥ x11Lx 128 = 50,160
O &=0e 22X K| 20,0003 x19E x3L x3& = 3,420
O MLTAIE EIAIT ARIX| A 60,0002 x5% x 3L x33| = 2,700
O B+3A MEZ2dE U248 60,000& x5 x3YL x53| = 4,500
O 28s 2 =0gAS Az+E 60,000& x5 x32 x53| = 4,500
O JILE A2 22| AIAE BX| EAF 60,0002 x2H x 3L x55| = 1,800
O ==EA % S22 ZE 0Hl 260,000& x3E x 128 = 9,360
é);$&t|| 4,200 4,200 0
4,200 4,200 0(04 FA2EHRFLAHI
O BA2E RFAI 350,000& x12& = 4,200
gééeﬂul 21,840 20,720 1,120
21,840 20,720 1,120 09 J|Et=c| = 4|
O 2| 21,840
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(230) RERHAFHES

N

(234) 7

(401) AIEHIZL 2 HEI

Jo

O &k o

—_ T

2
i
2

Ol
Y

pli

P

12,167,182

12,541,837

A 374,655

5,771,115

3,294,736

2,476,379

5,660,467

3,185,656

2,474,811

5,660,467

3,185,656

2,474,811

5,600,000

3,140,000

2,460,000

&) 2,100,000,000& x 14!

750,000,000& x 14!

1,500,000,000& x 14!

200,000,000& x 1 &

50,000,000& x 34

800,000,000& x 1 A&

100,000,000 x 144

—_

2,100,000

750,000

.500,000

200,000

150,000

800,000

100,000

60,467

45,656

14,811

2,100,000,000% x0.36/100%90%

750,000,000% x0.63/100%90%

6,804

4,253




[ &2ED]
21 (200) HEXAE 8 (230) RETAFS Mg : (234) 7= = 1 (401) AIEHIZ 2T (£t &)
m = oo | SE=] = o & s 3 =

2| & Me = I I R - -
O Kot E AXI(XA) SAF 1,500,000,000& x0.36/100x90% = 4,860
ONAZ4 +E(E422) L th42 T

850,000,000& x0.63/100%90% = 4,820

O &5 S A 2,536,880,000% x0.36/100%x90% = 8,220
O &t T2 SEAL 200,000,000& x0.72/100x90% = 1,296
O3z WEWM L EXISA 500,000,000& x0.72/100%x90% = 3,240
O JIA, &1 &, ot =8 MDA 200,000,000& x0.72/100x90% = 1,296
O I3, &1 &, ot REHA EXI3A 150,000,000& x0.72/100%x90% = 972
O L=z (M)A 100,000,000 x0.90/100%x90% = 810
O =2 WX 3,600,000,000% x0.36/100%x90% = 11,664
O M=H, A3™ B4 84,000,0002 x0.90/100x90% = 681
O AT S (AEH)) 1,425,000,000& x0.36/100x90% = 4,617
O &t SE2MEH 25 800,000,000& x0.63/100%90% = 4,536
O EEIIEH ML 100,000,000 x0.90/100x90% = 810
Ot E L ==Xl AlIE&EH| 122,500,000 x0.72/100%x90% = 794
OJIigdE M) & HERA 98,000,0002 x0.90/100%x90% = 794




(200) X=X XI&E g 1 (230) RERHAFS Mg : (235) JIHIEX S 1 (401) AIEHIL 2 THYI (el - &)
o = Mg | @EE . A
&b of = Al e =
8 |MIE = Ol &b o s
235
S 110,648 101,080 9,568
401
A2 S TR 110,648 101,080 9,568
110,000 100,000 10,000({01  Al&H]
O st& 2 AIZIIRLE RS HIOEH DA 40,000,0002! x 274 A = 80,000
O QARSI X2 HE &1 5,000,000 x 6 4 = 30,000
648 1,080 A 432(03 Al
Ostd & AIZIIAE ISH oI A 80,000,0002 x0.90/100%90% = 648
260 6,396,067 |  9,247,101| A 2,851,034
HIDIS &I XA S s o e
261
Szl Tt Al 6,396,067 |  9,247,101| A 2,851,034
401 6,396,067 |  9,247,101| A 2,851,034
AEHIL 2] o e o
6,373,393| 9,013,950| A 2,640,557 |01 Al
O S S22 HL01 DHIBAHL=1.1km, 8t 15044)
1,500,000,0008 x 14! = 1,500,000
O BN KLt &XIBAEHH) 2,228,902
—[X] 1,740,000,0008 = 1,740,000
—[=] 131,000,000 = 131,000




g 1 (260) HIDISEHIXIAFS ME @ (261) HAESQIXHA £ (401) AIEHIZL 2] (Sl - HJ)

Ol &F o g i ;j; = 2 O
— [Al] 2&H| &R Z S 357,902,000& = 357,902
O JA, JIZ2XY XA X ZA 964,491
— [X] 750,000,000& = 750,000
—[&] 56,000,000& = 56,000
— [Al] 2&H| &t &t 158,491,000& = 158,491
O ZYUBAACHT P2 HAE AL 1,680,000
— [XI] 1,680,000,000& = 1,680,000
22,674 35,151 N 12,477 (03 A& 20|
O it 2834 SL01H BHZA 1,500,000,000® x0.36/100%90% = 4,860
O &INXNSE Xgate=E XS A 2,176,000,000& x0.36/100%90% = 7,051
O JIA, JI=XY Xa=C AXZ2AH 938,000,000€ x0.63/100%x90% = 5,319
O 2HYUUIMNACHT SSE HE S At 1,680,000,0002 x0.36/100%90% = 5,444




) 8 1 (710) ZeiHlg g @ (711) (206) M 2H (Erel : &)
L = Ol AF o dd = 2k = J| R
| 8 (M = O & 25 =
700 23,272,703| 22,379.355| 893,348
Ab2i IS e o ’
710
ool 23,272,703 | 22,379,355 893,348
711
s s Ay 14,809,233| 14,771,433 37,800
200
o1y 14,809,233 | 14,771,433 37,800
200 14,809,233| 14,771,433 37,800
NE=As] T T '
14,809,233 14,771,433 37,800
2233 x153,500m x365& = 12,494,133
IOl S ) 51021x10,000m x3652 = 1,861,500
1203 % 14,000m x270 = 453,600
712 oo
o 8,463470|  7,607.9 855,548
100
olz1 2oy 1,300,946 1,003,338 297,608
o 1,300,946 1,003,338| 297,608
o124 S S ’
469,930 462,762 7,168
363,501
9,332 x31Yx55A12tx 128 = 190,933
9,332 x23FX67AIZEx 128 = 172,568




[ E=1]
2 (700) At bl g1 (710) ZLHIE Mg : (712) 824 = (101) 1Ayl (¢ - & &)
ot = N o
Ol AF oM o on 5 Z & & p] ]
2|8 NE = O &b o
O oty 72,673
— 02t 24 22 24,8882 x8% x 3652 = 72,673
O gg2Y 33,756
—H2F IIAFY L 2352l 75,0122 x5% x50 = 18,753
—$A2H 75,0128 x4H x50 = 15,003
152,400 192,093 A 39,693(02  JIEtEES
OHIAZE (129) 152,400
— Al2te|224g 8,591 8 x 12HxB7AIZtx 128 = 82,886
—oRt2e4sy 22,9122 x6%H x 3652 = 50,178
—SUISLY(AFAES Y =7 69,0562 X7 x40 = 19,336
405,400 93,195 312,205(03  RI|HA2ZXE2
O ==H JIAHZE 2N 405,400
-J123 957,380 x 11 x 128 = 126,375
G 957,3802 x 11 x400% = 42,125
— HEEIH 957,380 x 11 x120% = 12,638
— NSExY| 70,0002 x 11 @ x 128 = 9,240




[ E=21t]
2 1 (700) AelH| 8 1 (710) 2oHI Mg (712) "2 = @ (101) 22| (£ : & 2)
m = oo | SE=] = o & s I =

A = R -
=5 7,920
* B A 40,000& x11Yx12& = 5,280
JIEHHE 20,0008 x11Ex 128 = 2,640
— JAUZAY] 130,000 x11¥ x12& = 17,160
— AEstHIE =Y 463,990 x5 x43| = 9,280
2B 3 50,000 x11Ex12& = 6,600
— AX == 56,2563 x11Hx18L = 11,139
— =5 957,380 x11H x128/261L x52 = 25,178
—d32E 957,380 x11Y x50%%x23| = 10,532
— M 957,380& x10%x11Ex12& = 12,638
—FUIRY 56,2563 x150%x 13 x3T x12& = 39,492
— ORt2ZRSE 56,2563 X150%x 10 x7Hx 128 = 70,883
— 24 50,0003 x7E x12& = 4,200

273,216 255,288 17,928 | 04 JIZH22XNsSEs

O =4m MAY Y BCIDIPR| o2l 48,2402 x 102 x4 x 53| x8I 4 = 77,184
O&H 3 dEAY 12 Y 48,2403 X5H X8I A x43] = 7,719




g1 (710) ZLHIE Mg : (712) 824 = (101) 1Ayl (Ctef @ &)
g OH E-I Lj = = oL A = =
Ofl &b oH Ol AF ot S At = Il =

O 2E0 R HAFA(HI, oFy) 48,2403 x6H x102d x123| = 34,733

O 4+ALS7Y BATY| o2 (zolUTel & E) 32,980

— 21| 200,000& x17Hx9ME = 30,600

— B8z & 203 140,000@ x17Y¥x13| = 2,380

48,2403 x10E X252 X 10HE = 120,600
(2_;%%4 i 7,116,350 6,562,040 554,310
gs&%—g 380,246 371,908 8,338

306,138 286,028 20,110]01 AR 22|l

O t==ZH| 278,374

—H WY ABZH|(SE) 6,040,000& = 6,040

—ZIIEA =2 186,372

CDAINA(BE) 120,000 x8IH A x 23] = 1,920

* 3del(FDI) 80,000 x6lHx123| = 480

TEOIEH EIIFAHYE, 24, ot Y) 2,600,000& x 14! = 2,600
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(700) At HIE g 1 (710) SGHIE Mg (712) E==tl £ ¢ (201) LBrEEH| (Sl - HJ)

b = b SER=
= O &F oA o & ;; = = & = p] ]

« B2 NSK 2E2 600,000 x50H = 3,000
x 0|2% 282 125,0009 x40 = 500
O o2l 10,560
— 22 1,1009 x 1202 x8AI2kx 12504 = 5,280
-2 1,1002 x 1202 x8AIZEx 1250 = 5,280
O Xta e 17,778
1)) 3,047,0002 x 1CH = 3,047
- 328(58) 4,717,000 x 10§ = 4,717
—32(28) 3,338,0002 x 3CH = 10,014

a?sl 233,520 236,880 A 3,360

233,520 236,880 A3,360(01 ZLHOIHI

O BA29 =x o0l 20,0002 X562 x 112U x 128 = 147,840
O g3u=s & &I Jl=MolLt &4 60,000 x5H x3L x63| = 5,400
O H4% »Zp2 3 0oy 60,0008 x20% x3Y x53| = 18,000
O ZRAA YL HESZ 2AAH 22 60,0008 x 132 x3L x53| = 11,700
O EIE +Ea2| L AN A2FHO 60,0008 x 13 x3Y x53| = 11,700




(700) MeiHIZ & : (710) 2igHIE ME : (712) HAH) S : (202) Oit (c9 : @2
} = oo | SE=] = o & s I =
= G5 wew | 3 . =
OHM=Z M= L AMSE ZE AEHIA 60,000F x7H x3L x53| = 6,300
O 24 dRUSE &4 60,0003 x7H x3L x33| = 3,780
O 4R ESHE =& 20,0003 x 128 x10€x 128 = 28,800
é);——f‘—&m 6,660 6,900 A 240
6,660 6,900 A 240104 FA2EHRFEHI
O J1ZE 43021013t 350,000& x12& = 4,200
O == 50003 x41Hx12& = 2,460
il?éljl 1,412,983 1,397,208 15,775
317,990 302,215 15,775 01 2B =8I
O 2248 2372Y 90,240
—d=XelANE 222 7,000 x5E %20 x43| = 2,800
— SMAMISZ ALY HEH(LR2IEHE) 25,000,000& x 14 = 25,000
—d% SZEH BLES 5,000& x108 x20J x53| = 5,000
— 0D & ZCIZ20t A2F(SS) 50,000& x10E%x23| = 1,000
—=32els Mz 7 5,000 x6& %10 x43| = 1,200
— gAY 2EF7Y 5,200




(712) H==H £ (206) M=l &)
= S & = I =
= of &4 | Z = =
=P8 100,0002 x40CH = 4,000
St ol 2= 100,000 x3E x 43| = 1,200
— 2tE AIE R M2OIH, &I, B2 100,0008! x30E x 23| x 8 HAXK = 48,000
— A2ABSTY HotEE W2 2,040
PPECH 2502 x3,0000f = 750
Pl 3302 x3,000Z dl = 990
0 3,0002 x 1007} = 300
O DYEA 2 35,0002 x50m = 1,750
O$EEJEN H2PY 226,000
—2EANESEHEY ARE 50,000
SEe | 50,0008 x6Z x500H = 15,000
Phi| 200,0002 x5% x 200} = 20,000
eS| 100,000 x 10Z x 150 = 15,000
— 2H0|2E=HEH| M2HI(PhHIE MA, SEH S)
60,0002 x55 x84 x 23| = 4,800
— 2124 4(GC.GC-MASS) £E 24 a3 60,000




[ E=21t]

2 1 (700) AFRIH] 8 (710) AUHIR Mg © (712) B4 = : (206) M2l (£t &)

m = oo | SE=] = o & s 3 =

2| & Me = I - -
A22E(Z2E S 308) 1,000,000& x308 %13l = 30,000
AMHESILIEE S 303 600,000& x30& x 13| = 18,000
ZAIIR (AKX S 205 600,000& x20& x 13| = 12,000
— RIIZ2HA(ICP,IC,UVE) =& Z48 M7 60,000
L22E(EX S 308) 1,000,000& x30&%x 13| = 30,000
Aek(ZelME S 308) 600,000& x30&E x13| = 18,000
ZA2(TE S 208) 600,000& x20&x13| = 12,000
— DIAE 20t JER A HE NS 1Y 20,000
AT S L8 Ak 20,000,000@ x1&Ex13| = 20,000
— S|, RI2H4 IS8 ek AP Y 31,200
Airs =% JtA 2 520,000& x5&x12& = 31,200

846,263 846,263 02 orZ |

(OR=F)\| 260,000& x7.0m x365 = 664,300
O HXSE A 5003 x700kgx 365 = 127,750
O AA3) 1503 x 150kgx 365 = 8,213
O g8 500& x1,000kgx 12& = 6,000




[ E=21t]
20 (700) AFIHIZ 8 @ (710) ¥AHI” Mgt (712) B4 S : (206) MEH| ka))
i = PSINE = . -
Ol &F o4 o | B 2 & B I =
| & Mg = Ol &k o
O skl Mel E€+=8 Zcli 4,000& x10,000kg = 40,000
248,730 248,730 0|04 =l
O A&, JIHKNG &=+ = 1 413&x1,650m x365Y = 248,730
207
L 205,000 0 205,000
205,000 0 205,000 01 A=A
O &2 =Z2e|HE Y 60,000,000 x14] = 60,000
O FEX, SEHX ALHBS UM HE 28 8
145,000,000& x 14! = 145,000
212
== MY 81,834 80,219 1,615
27,629 25,567 2,062 |01 MNIABHREZ
OJIZNZ2 2 4UHEE 2€32 27,629
— S =&Y & 00| 1R 77,184,000& x11.5% = 8,877
LW HAUS WY 02 7,719,008 x 11.5% = 888
— B0 L RY 34,733,000& x11.5% = 3,995
— SMAMTESZT AIEHEIE 1RY 120,600,000& x11.5% = 13,869
54,205 54,652 A 447109 JIEt= el = 4|




Mg (712) E==tl S 1 (212) Sel=H4Y| (Sl - HJ)

- e w | & = & & o =&
ol & o
O LI=H| 15,635
—HEZE 5,640
285 130,000& x12& x33| = 4,680
=i 35,000& x12¥ x23] = 840
° 2Kt 5,000& x12& x23| = 120
— S22 7,425
of= 130,000& x55&F x 13| = 7,150
22X 5,000& x55& x 13| = 275
—AEY 2R NS 100,000 x7E x 13| = 700
—2JIH2 24 1,870
s 130,000& x11&¥x14 = 1,430
© oM St 35,000& x11Ex 1% = 385
T 2x 5,000& x11&8x13| = 55
O =&l 38,570
— 2A2g sS4 4,130,000& = 4,130
—dAE tHEE E YEES 7,0003 x5Ex10€x12& = 4,200




[ E=21t]
2+ 1 (700) AHHHIE 8 1 (710) YSHIB Mgt (712) B4 = 1 (212) 22|24 (E+2l : M)
ot = N o
Gil &b o N i on s 2 & = pJ ES

g KE = Ol &k o
— AL OF2F 212 FH| 7,00021x 1284 x8U x 128 = 8,064
— & At X 2| OF22 Xt 7,000 x14Bx8LXx12& = 9,408
— AIAAN Y RS ET 7,0002 72 x8Y x 128 = 4,704
—&RRAESAY =F ORIZ22A 7,000 x12F x8U X128 = 8,064

i;%XIEHIHI 1,832,307 1,505,125 327,182
1,703,800 1,377,488 326,312 05 JIEF W AIHI

O F4 AlE L HES H2l Al B4 374,400
— S22, N2=3X, 88T +F 1,600 x45,000m x23| = 144,000
— 3t 28, 8E23sF 1,600 x32,000m x23| = 102,400
— 248 L™ T 1,600 x40,000m x23| = 128,000
O &H XAl 501,000
— g X(H2=3 X)) 55,000& x 3,000t = 165,000
— 252 I(3Y) 55,000& x 1,000t = 55,000
— =S I(YH) 55,000& x 3,100t = 170,500
— HASHI(ZE) 17,000& x6,500m" = 110,500
O RYFLE 165,800




[ E=1t]

?;Fo (700) At g (710) 2gHI= Mg o (712) B8l £ @ (214) =KX LAY (el &)

o = 0f] AF oH 84 = 2t At = =

2| e = I R A B - -
— &I &H| 80,000
THIILH 2 AHSI| S 5,000,000 x8% = 40,000
COHA =& B 20,000,000& x20H = 40,000
—JIHEX 20,000
HEIMdH X HER S = 4,000,000& x5& = 20,000
— Sl 10,000
" Ze{X 0lE BI 0 S JIAHAIL £ 5,000,000 x2& = 10,000
—UZ T X FHAE 6,000
O oA £00| Ut 24 1,500,0008! x 45 = 6,000
— =2 NsEE A& 49,800
SEd HREAN WA 15,000,0008! x 37| = 45,000
A USZAAAE =M 100,000& x4EZx12H& = 4,800
O H2=& X 156,800
— &Il & 51,000
THEJIZHl 2 A0 S =H 5,000,000& x8& = 40,000
CEITIAIE HARE N AX 11,000,0008! x 1 4] = 11,000




[ E=21t]
2 : (700) ALY 51 (710) YAHI Mg (712) "2 S ¢ (214) 2HSTDH) (29 : ®E)
5 = Ofl Ab oH @l sl e = o At = ) =
A = I G -
— JIAHEX 20,000
HOMH R WHEF S =4 4,000,000& x5& = 20,000
— BN 15,000
eI S JIAHANE =M 5,000,000& %358 = 15,000
— %42 F Y F+ A4 70,800
UE, G4 T L & =M 1,500,000& x4& = 6,000
S FEAAH WX 15,000,000& x40 = 60,000
=& NSTA AIAE =& 100,000& x4Ex120H& = 4,800
(O FEPSESPN, 30,800
— &I &H| 15,000
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— PHOIEH=A0I2=H) & 3,000,000& x 204 = 6,000
— W2 =FHI| 2 2,000,000& x10H = 2,000
O RAE4H 25,400
— A0 P (FL2GY) 1,000,000& x 14l = 1,000
— 9% PL(RLFI) 200,000& x40 = 800
— A28 2 () 1,000,000& x 14l = 1,000
— 2AED|(8004 E8D1) 72 5,000,000& x40 = 20,000
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